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1. Find the perimeter of the figure. _//
- 7

@ 4 feet 7

The perimeter is Ifeet.

Answer: 21

2. A new notebook computer with DVD player costs $624. Derik Muller has $1251 in his ch'ecking account. How much will be
left in his checking account after he buys the notebook computer? ; 2 S, /

Derik will have $ remaining in his checking account after he buys the notebook computer. G 7 ~f

o
Answer: 627 @

L— e ——— e

3. How many more square miles of land is drained by the A @ River Basin

sub-basin than the B sub-basin? E
g 500§90,000
g
\__;&
245,000
54,000 162.000
77,000
30,000
AL 5L | [ami ==
(W E

) G
|—._\sqrni

Answer: 345,000

the shape and dimensions of the figure shown to the right.
How many meters of fencing are needed to enclose the the
area shown? 93 meters 147 meters

@ 74 melers /: A-,f 0 TC"FD

) [26+IY71+ T¥
 m =9

CD/;: 2151471 T
Pz 26679

P= fyo T

Alexander is installing a pen for his dog. The pen will have 126 meters
©

Answer: 440
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5. Evelyn Abrams is reading a 271-page book. If she has just finished reading page 135, how many more pages must she
read to finish the book? -
<7/

[ Ipages — /3

Answer: 136

6. A permanent game board is made of granlte Iti |s |n the shape of a square with side lengths of 38 {t. Find the peurneter of

the square playing board. -
X% A =35
The perimeteris feet. 3% E[j ¥ p{ (74 (3 i) (

Answer: 152 | @’)

N, e

7.
The table on the right shows the number of a particular store State Number of Stores 7
in ten states. What is the total number of stores located in Arizona Q147 ) & 4 & :
S . g
the three states with the most stores? California 35 5 =
Florida B Y e—f ({ d L
A total of stores are located in the three Georgia 26
states with the most stores. llinois 21
New York 77
Michigan 45
Minnesota 25
Ohio 182) <——
Texas 72
Answer: 409
8. Round 8,467 to the nearest hundred. 7 (fé 7 = 51w 6 P

The number 8,467 rounded to the nearest hundred is ] f J ‘A"‘/( “ I‘a

Answer, 8,500 f §_O O H

9. Bargain Appliance Store advertises three washing machines on sale at $1099, $699, and $1699. Round each cost to the

nearest hundred to estimate the total cost.
j095 —> ([0
The estimated total cost is $ : 6 ? .—7- ; 70 o

Answer: 3500 !/C) LAV‘(/( /6 9 7 = [ 7 oo

R _ Lis# il ol Y W

— _______-_-_-_-_-_‘—i—.
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10. Use the distributive property to rewrite each expression. ; ( é ’F f ) -

3(6 +8) B r/ X

2 3 ° -
3(5 + B) = G ’-f_
{Type an expression. Do not simplify.) e

Answer: 3+6+3+8 o e

11 '
Find th@nd th perimeter/ﬁf the rectangle shown to the right.
-

5 meters

The area of the rectangle is n

The perimeter of the rectangle is 2)

(1} © cubic meters. {2) cubic meters.

O meters. square meters. Z ( 6(") -+ 2( by )

() square meters. meters.

Answers 45

(1) square meters.

28

(2) meters.

12, One triple fudge brownie contains 119 calories. How many calories are in 12 triple fudge brownies?
1 /
calories .-l— - /Z
{14 A »
! () CrooD> ‘(”Vé‘
Answer: 1428 I (/\/) (19 (

(W=T¥%2y > -

13. A plot of land measures 80 feet by 160 feet. Find its area. A -~ L W

Ww/ -
The area of the rectangle is : n A - (/ 6 0) (y O)

(1) 8 cf::;icfeet. A,: /2 fd()
() square feet.

Answers 12,800

(1) square feet.

- e r— e e s e —
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14. A plant for a tea company has bagging machines capable of bagging 2000 bags of tea per minute. If the plant runs 23

hours a day, how many tea bags are produced in one day?
A @ 2000) /2 3 hours)

The company produces I tea bags in one day of operation.

4 = 2020 (23)(60)

Answer: 2,760,000 LA: Z/ 7(9 go .U . )
B i i —

15. Divide the following and then check by multiplying.

5)235 SJz235
Select the correct choice below and, if necessary, fill in the answer box to complete your choice, ~— ( 4 J )

A. The quotient does not have a remainder. The quotient is : 3 5
B. The quotient has a remainder not equal to 0. The quotient is R -_— !g 3 )
' O rev

C. The quotient is undefined.

Answer: A. The quotient does not have a remainder, The quotient is 47 _

= e BT — e /S:
16. Divide the following and then check by multiplying. 4 ? 7 G -

o 6 [1497%
—q )

29

O A The quotient does not have a remainder. The quotient is p q)

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

O B. The quotient has a remainder not equal to 0. The quotient is R Sf- 3
S K

() €. The quotient is undefined.

Answer: B. The quotient has a remainder not equal to 0. The quotient is 248 R 5
_'_'_'_'_'_'__'_'__ et L =—=— e — o —— R
17. For their wedding, Ben and Jen paid $14 for each guest's diTE[.L The total bil w many guests did they

have at their wedding?

Itz 3
~ (/Y)
Answer; 168 q $

R s o o =S c—“(f:.y_

18. Find the average value of the following list of numbers.

w2u.201412 —7 [2, /‘// ZL?) Z.(/?«V’/‘-{/_:_

The average value is |:] /Z __{_/ ((',_f, L ~F7? / "‘FZ—V?‘ y/ R
e e e e -
- @

~ guests

——— r———————

Answer: 22 / 3 Ve _

; <z ®

40f47
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19. Find the value of the expression, ‘S

Answer: 25

e

20. Simplify. ‘C}%p g /G 47 °2 <
19+7+2 &A)) __
[T41Y <

Select the correct choice below and, if necessary, fill in the answer box to complete your ¢

1A, 19+7.2= /C’

) B. The expression is undefined. T /L_‘:_/_
3

Answer: A. 19+7+2= 33 3
H-_H_'T"_"‘—-—
21, Simplify.

63
26 + E 2‘( —(— e
9

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

s 26+ 1=
A 6+ =

() B. The expression is undefined. 3 3 = ,,-
_'_F'_'___,_..o-""""
63 -
Answer; A, 26 + 5" 33
"--._\_H_\_‘_\_‘_ - B
22. Simplify.
3-6+3+3

(A, 3+6+3-3=

() B. The expression is undefined.

Answer: A, 3-6+3+3=| 27 |

fof47
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23. Simplify. 6,— ,vx (DA N
-

(2+8)+(7-2)

Select the correct choice below and, if necessary, fill in the answer box to complete your choi
(Zvc)e (7-2) =

Z—r‘r
A (2+5)+(7-2)=

() B. The expression is undefined. ( 7 ) e (§—)

Answer. A. (2+5)-(7-2)= 35 Cj
— o

24. Evaluate the expression for x=3 and 2=4. 3 X ‘j G ('f X w\w

3xz - 4x 3(3)(?) . 9{(3‘) = 5\4\5)4—
- 3((2) ~%(1) = i

Answer: 24 3 6 — /l =

25. Evaluate the algebraic expression for the given value. /(

When x =8, x° -3x +2= | (G) L’— 3 (G)ﬂf?—':
(Simplify yo'ur answer.) - (67 (() - 3 (G) —t z— =
26 —(7+2 =
- B ep——

26. Determine which numbers in the set are solutions of the equation. H=(7 . 17— 6 =27/

n-6=11; {15, 17, 19} (/7/ ~C =17

Select the correct choice below and, if necessary, fill in the answer box to complete your choice. / 7~ ( o / /

xz-3x+2. forx=6

Answer: 20

O A. in the set {15, 17, 19} is a solution of the equationn-6=11. l, - ( /
() B. None of the numbers in the set are solutions of the equation
GR o{
Answer: A. fT] in the set {15, 17, 19} is a solution of the equation n-6=11.
b
27. Determine which numbers in the set are solutions of the equation. M < 3 snﬁ - / _(/—

Sn=15; (3,9, 15} $T3) /¢

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
/5= /s

O A. in the set {3, 9, 15} is a solution of the equation 5n=15.
(C) B. None of the numbers in the set are solutions of the equation. 6—0 U 0/
Answer; A, 1 3 in the set {3, 9, 15} is a solution of the equation 5n=15.
..~ S R
___-___'_‘—-——-_
s

6ol 47 4/8/2019, 8:28 AM
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28. Determine which numbers in the set are solutions of the equation.@ 4//] "f' _S — /? 7
4n+5=37; {0, 6, 8}

AP+s< 27
Select the correct choice below and, if necessary, fill in the answer box to complete your choice 3 Z _
O A. in the set {0, 6, 8} is a solution of the equation 4n+ 5= 37 3 7 - j 7
() B. None of the numbers in the set are solutions of the equation
oo o/
Answer: A 8 } in the set {0, 6, 8} is a solution of the equation 4n + 5 =37
- - _'_'—'—-—-_.
29, Simplify. pé-fp..v‘ ')A} 3...{' Z ﬁ' .—-/({/_.
3+B-8-14= _7/ (7/
S 7 S~ ¥ = -——-—I~—
Answer: 61 G
30. Solve. Check your solution
“6=05
x+6=25 (

The solution is x =

XeAo—g= ls=%

Answer: 19

31.

Solve. Check your solution

- I7=9- -
174 =y / 1197
The solution is y =

[7=(0%)~/
= [

e {7‘-/5’/
T ———

. (72/7 éﬂu c/
T C. B
32. Solve. X < ¥ 7;{(;;(5‘&/—
9x= 45 9 X T ¥y gfs_) -y
The solution is x = :’ "?__ 4 - {
Answer: 5 /

x-3= -247 )('-/) :-’L—f?
The solution is x -| { s r

)(..._
Answer: 8

"X-3 = ~t+7
(33 = ~1-+
/=37 2~+7

§=5 Goid_
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34. Solve the following equation.

i)(-—b":’o
e

C Mlgf:;‘ixlitcmprod.pearsoncmg.com.-'api.-’v 1/print/math
| X — =0
078 [2()—F= O

x=.8x-8=0 g/( ’::? . 8’6 :O
Answer: 1 %/S" - ‘%’ @ O,: O éol'/c/

35. Soive the equation. 5“” — 5""0 -y S

CAUA
S 1/’ 50U = Ll

18

. 07 2 s 7 ST S & r ) SRy R
- [ A
N e S5 Fovd
36. Find the prime factorization of the following number. / /9/'/ R Z, } 52 [ 7/_7;:'"":‘

The prime factorization of 18 is

Answer: 5, 32

P s SR N s e

<y

37. Find the prime factorization of the following number.

102

The prime factorization of 102 is ;

Answer: 3217

38. Divide.
g 17
— e—
16 32

Select the correct choice below and fill in any answer boxes in your choice.

O A,

() B. The answer is undefined.

Answer: A, 1—5:5 + % = % (Type an integer or a simplified fraction.)
Privvie L, {
a1l Tz 142 LA2 19—
722 W Te
(e UL
¢ 2&

Baf 47

(Type an integer or a simplified fraction.)

4/8/2019, 8:28 AM
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39. Performthe indicated operation.
¥ L <
7 6 7"
B8+73 { 3
g & W Le
] (7
B+73 = (Simplify your answet.)
Prinss 2,% ; 2.2.2 (% —
/ "—-___________ 2 e —
Al 104 LA | 7
nswer .
7 yzs o7 =)
L -—
—m——————— I e .
40. Perform the indicated operation. 3 57 11,17 { : S e
Pf"m’zfl/z L1, - 7 32
5 2
-
5 2 . i _
il * 33 = (Type an integer or a simplified fraction.) $'- . Jo -
y 2 -
Answer: 15 (\ .
2
41 1 ?f’ (17 S
Find — of 40.
4
. .
— of40is ‘ | (Simplify your answer. Type a whole number, fraction, Of mixed number.)
4 e Go —
Z 7.5
20 e
Answer: 10 27 /
<(5 [0 - fo/

B 1= e

42. 5
Find r of 18. Wirite the answer in simplest form. a2

5
3 of 18 isi \ (Simplify your answer.) 5
- ;v % |
Answer: 15
AL 7.

—
. . 'S . _
43. Add and simplify. ﬂ//m:s 7—,3, ,le/l’i/’z( - 7 + 5, "
117
TR [+t 7 .
2/

1 17
-‘ [ (Type an integer or @ simplified fraction.) / Z

F i

ET-I-—E_
2
Answer. § Vi g "3 . f_‘__i 3 =
7 37

I
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44, Add and simplify. 2{. _.f. -

s
13 =
278 /¢ L
1 3 2—{ ({) N i
Eh I—] (Type an integer or a fraction.) .ﬁf 3
— ’___(.__—- a—
i S

J
Answer: 7
s 5 - 7
— . P ——

45. Perform the indicated operation. I == @')—f;z:}“?
—— 'z_ _”__'_'_,__-'-""
11 7 1 :
779 1 /9 {7y
L 5(H -=1)
7°9° | (Type a whole number or a simplified fraction.) /6,:‘_ - :{_ -~
Answer; _2.. C 3 65 e,
63 9—7 - Z
63 (657

46. Insert <, >, or = between the pair of numbers to form a true statement.

5008 5.1 @? o] < Sa/0 (;__ ..
5098 |51 //

Answer: <
—— SOOI RT r——— ——————
47. ? /
Round 0.4071 to the nearest thousandth. 0.4071 =~ 0 ‘ O 7 {/ . L(
sl [< ¢
Answer: 0.407 Q‘ (7[ J ? . <b oA~
PRI, T o (lend vy

48. Round the monetary amount to the nearest doliar. Jf b”' O ?’ ’C
»

$50.96

$50.96 rounded to the nearest dollar is § . _ T S e C’(
Answer: 51 row vu/ W
= e

10 of 47 4/8/2019, 8:28 AM
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T
49. Write as a decimal. 6 / v FLO\‘
1 6 —F s i / GL) /1 7
—qw)

100
L 6 7 - ._Z O
100 ( 6. 25
Answer: 6.01 ' o
PP
50. Add the following. 2.650
25+6.12 + G |z
2.5+6.12= (Type an integer or a decimal.) o f . G ’L . __\\
Answer: 8.62 k- - -
e e et — e P
51. Find the sum of 58, 5.003, and 8.402. f gv ov O
The sum is . —+ Z{:’zg 3&
Answer: 71.405 ";’_ ’_: (/ 01 o j
52. Subtract and check the following. B /g' , 0
19-7.1 - T
19-7.1 =|—_l {Type an integer or a decimal.) e

S — s
h Y
17
Answer: 11.9 =~

53. A landscape architect is planning a border for a 24.33 feet ———» o A -~ /3 c

flower garden shaped like a triangle. The sides ‘\ /
P=/6 L +TY 33+L3 ¢

of the garden measure 16,2 feet, 24,33 feet,
23.8 feet

and 23.8 feet. Find the amount of border ﬂ' 16.2 feet e —

material needed.

The amount of border material needed is | feet. fé

(Type an integer or a decimal.) {
/6.20

Answer:; 64.33 24 2, 5
— S — _.__..._7"__ - Z ? — 3( I} N — S

Il of47 4/8/2019, 8:28 AM
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54. Use the values of the coins given below. Write the value of the group of coins shown
to the right. To do so, it is usually easiest to start with the cain(s) of greatest value @ %“

and end with the coin(s) of least value. . Z ST s /0 .05 =
Penny Nickel Dime Quarter )( 2 X L Q__ R i’ )
: o i 7,
" 4 .._ g ‘ﬂ‘ ’____.—"—__- .‘l \S‘— } bt 'V.‘ - 4
- %‘\\ 1 — el O
L &) () ~ v o,
*' 7S
001 $0.05  $0.10 $0.25 %)
§
The total value of the group is § : __;[_-S e

Answer: 1.10 L{L/__(_):\-— - —

= ————— e

55. Use the values of the coins given to the right. Name the different ways that Penny  Nickel Dime Quarter

coins can have a value @.f/given that you may use no more than 10 E C _) 57

coins.
S0.01 $0.05  30.10 $0. "'\

Choose the correct answer below. Select all that appl{ 0 / G

E}/ 1 dime and 6 penmes L

. 3 dime, 1 nickel 2 and 1 1 penny ﬁ\———-
[] €. 1dime, 3 nickels and 4 pen pennies

Bﬁ( nickels and 6 pennies -+ <=
(JE. 3 nlcke s and 8 pennies

TF3 nickels and 1 penny 2 <

Answer: A. 1 dime and € pennies, B. 1 dime, 1 nickel and 1 penny, D. 2 nickels and 6 pennies, F.
3 nickels and 1 penny

T B e <f e e — — 0
56. Multiply. f‘ (
8.6
x0.7 < 6 v 7
~ L —
B.6
%07 ( o

[
6 o © _ ,_;"J
Answer: 6.02 s —

12 of 47 4/8/2019, 8:28 AM
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57.

D= ¥/

Find the circumference of the circle in terms of x. Then use - vy D
the approximation 3.14 for &t and approximate the C -
circumference. C “1’7‘ D =Y/

- CE Fmr >
(C‘g’iﬂ“’ C’;Bu/“/(#;)

a. Find the circumference of the circle in terms of =. f(:_._ 2
The exact circumference is ft. K

b. Find the circumference of the circle using 3.14 as an approximation for n. 3 / ('/

The approximate circumference is ft. (Round to the nearest hundredth as needed.) :>_< E / )
3/ Y
Answers 41n _!,__f———#_'__"_ 'z fé_

128.74 Fo &7 Zf 7% D
58.  Find the circumference of the circle in terms of x. Then T C z 2N
use the approximation 3.14 for & and approximate the
circumference, (. 2 V V-'_"‘"H-. C - 2 T (¢. 6)
0 vards
& T =(3.277)
FCEL (3107 >
o2y
U ——
a. Find the circumference of the circle in terms of n. C < (f / P (/ 9— f
The exact circumference is yd.
b. Find the circumference of the circle using 3.14 as an approximation for .
The approximate circumference is yd. {(Round to the neares} thousandth as needed.)
Answers 13.2n
=
41.448 { 3 . '
—_ _ e o s
59. A 1-ounce serving of cream cheese contains 6.3 grams of saturated fat. How much saturated fat is in 12 ounces of cream
cheese? / 7
Pead b
Answer: 75.6
:“H"—‘—n_

13 0f47
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60. The screen of a portable digital device is a rectangle that measuréﬁhghes

The area is square inches. (Type an integer or a decimal.)

A () <2

Answer: 9.1 w di i_@

e
61. The diameter of a ferris wheel is 280 feet. Find its circumference. Give an exact answer and an approximation using 3.14

for x. C =17 D Q _2//;’) C=~ 1 \D
The circumference is | feet. C = N D C=1iT (_Z__?:o) 7

{Type an exact answer in terms of x.) ¢ -~ 250 1T

The circumference is approximately | feet. C. = 3./ & ( 2 9\_))

(Type an integer or a decimal. Round to the nearest hundredth as needed.) —_—
C/ = 7/ ‘3( 6o

Answers 290x

910.80

———— — R ——— . S

62. A meteris a unit of length approximately equal to 39.37 inches. If someone is 1.61 meters tall, what is his or her
approximate height in inches?

Using the given conversion, someone who is 1.61 meters tall has a height of inches,

e an integer or a decimal. / _ [« G/ —
(Type an integ decimal.) 5¢37 - A f? @:_ QB.,EYS‘D
Answer. 63.3857 /(A/) - 3 ? a 7// 6/) \ “_——H-__;\_‘Hx

- —
rr—

(Pt

63. Divide. 0. 7 & }(f ‘;E"_-/

[

0.72 )4.464
| — (% >2)
The quotient is l :
(Type an integer or a decimal.) / éf &

Answer: 6.2 —'—(/ Y (’J)
GIVAEN

684. Find the decimal equivalent of the following fraction. l 7 (
20 /o 2o [ (-

N — . _.CL_U "0
O
Answer: 0,85 o (//()\))

O rew,

e e —-___-_-_-_‘_'_-___'_"—‘—'—-—-—-____

4 of47 4/3/2019. 8:28 AM
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g -
o Write 72—90~ as a decimal. 7 Zt‘i Z;—) 20 r ‘f{ 0O
9 . 7 3 :,@)_).
7E=' 7 -f" ° LFS e / 0 O
e e,
Answer: 7.45 Cf 3_’/,) > 7z
. ‘ R M
66. Solve the following equation. - 67 - 2.7 ("' ﬂ_}_? “\\

-6y=222 ~6v) = 2.11 6

y= (Type an integer or a decimal.) —G —6 ( /f ?)
e 753
Answer: - 0.37 <D "'d 3 7% . f s 2
T TR .

e ——

67. Solve the following equation. —2 « G X —f'/ 3T =17
-26x+13= =117 —~2s 6x "f‘//f---/(g < o7 —{[.2
The solution is . (Type an integer or a decimal.) __ 2;- 6 )( — 3
J— —rix . 43 (X=§& >
— . L 2.6 g L : it
68. Solve.

6x-2=8x-3 é X ~; T 5/( -3
K=| (Type an integer or a decimal.) 6 )(-/ZC-F /{ff, i( ~3F L

Answer: 0.5

15 0f47 4/8i2019, 8:28 AM
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69. Find the mean, median, and mode for the following=set of numbers. If necessary, round the mean to one decimal place.
\ X
22,11, 15,13, 14 ’// /B/L/:é/ /3; te (G\m’lL‘—

The mean is
{Type an integer or decimal rounded to one decimal place as needed. Use a comma o separate answers as needed.)

The median is .

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to separate answers as needed.)
Find the mode. Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

) A, The mode is

(Type an integer or decimal rounded to one decimal place as needed. Use a comma to
separate answers as needed.)

() B. There is no mode, //~f i ’f/f_ﬂ*f"“ . @/t q;/i///

Answers 15

/f/t(/( S peo
14

B. There is no mode,

Py /
70. A stereo normally priced at $629 is on sale for 10% off. Find the discount and the sale price.

29 b2a, oT
The discount is $ /} = ﬁ '—-/ﬂ é, ‘
—. A= 627—-—€Lqﬂ/‘/)éﬁwﬁﬂ1¢ [

el

A 626 — 0072 T g T

G'Le

The sale priceis$__

Answers 62.90 — — v ﬂ 78 A
566.10 d 566, /O » _;EZJ,,)

e — T — —

The circle graph shows the number of students at Rockford Major and # of Students
College who are enrolled in various majors. Find the ratio of B Business 3900
Science majors to Social Science majors. @ Computer Science 2000

1/5-28—(:?%1:9 800

The ratio is 0 English 2200
(Type an integer or a 5|mpllf ed fraction.) @l History 700

SSC ey JMCGICS —
S(JC;.,I S(fu; h"‘:)(ffb
Yoo
2 yod

Jooll)

Answer: 1
3

—-—
e
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& Country A 30%
Country 8 20%
@ Country C 16%
@ Country D 12%
@ Country E 7%

@ Country F 12%
B Country G 3%

72. The total amount of land of some particular countries is approximately 64,000,000

square miles. Use the graph to find the area of the Country B.
/ﬁOO ouQ

X < 2o
o0 oo o000
13 ¢ 0900 o0

{2, 700,000 ~

The area of the Country B is approximately | - square miles.

Answer: 12,800,000

e
e ——

73. The circle graph to the right shows the percent of the types of books
available in a library.

[ Adult's fiction 33%
[ Reference 17%

ther 2% ™
W Children's Tiction 22%

B Nonhiction 26%

If the library has 122,000 books, find how many books are classified as
er.

The number of books classified as Other is | !
{Type a whole number.) ___L— q{
¥

Answer: 2,440 i area - -
. SHErie s . o

—— T W

74. If this library has 107,000 books, find how many books are in the

category (i*@t?’?i /07 000
2.J
-]

W Nonfiction 25%
B Children’s fiction 22%
B Aduit's fiction 33%
jiﬁérenca 17%_' i
B Other 3%
e .

e

/7 %
39

The number of books in the reference or other category is books.
— 2.0 2,

Answer; 21,400

e

75.

Find the square root. J49 = . 7
/s V%7 <

Answer: 7

é

2=

1
N
j.

170l 47 4/8/2019. 8:28 AM
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z AN
76. A A7Frz-ct
Find the length of the third side of the right triangle. . 7 .
€)== ) - ct
. B
/oo <
The length of the third side is [ (// Wz m

Answer: 10 C[b/-;/Q

77. Sketch the right triangle and find the length of the side not given. (<= 37 T A_ l_{ /3 2:'._
leg = 13, hypotenuse = 85 A: { q) / 3 _{_ 13, @-")1
The unknown length is E -, /6 7 B /3 7& <

{Type an integer or decimal rounded to the nearest thousandth as needed. ) /G/ I 5 /G 7’ - 7 22 7 ( 5

Answer: 84 B < 7U$/ S ,

78. Find the ratio of the corresponding ﬁ
sides of the given similar triangles. b
S
e —— ——
/O
The ratio of the corresponding sides of the first triangle to the second triangle is l g
(Type the ratio as a simplified fraction.) —
)
Answer: 3
2 . =
2
___.———-—-_-_'_'_'___‘—-—-—__
1"“---.___‘___'_ - - - W i e~ - —— it
79. A triangle is formed by the building's height : )< 29
and shadow. Another triangle is formed by it . S C(
the flagpole's height and shadow. Using the 28 C yuSd

following diagram, find the height of the
building.

((r)= 28032 pulf
‘\30&5\ C/)(—_—_ 7 Yo

281t

The height of the building is [ lfeet.

Answer: 210

18 0f 47 4/8/2019. 8:28 AM
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80. Draw a tree diagram for chgosing-a yowel, (a, e, i, 0, u) and then a number (1, 2 or 3). Use the diagram to find the number
of possible outcomes. :

O A, .
Ilé:
N

7

.(.-

=3

T,
=1
s.__:"
il
£
|
A1
PR

I = == sl -
O
[2)
| h e
[ ) —
O
o
T
! T
‘A
va— hi‘r\}-‘— \"-' .-{/‘n‘\.\-

—
i %
;= N
A7
&

SN

-

T
P

=

AN AN AN AN

22 | = G0 | — g

5
Based on the Iree, what is the number of pos,sju@;? | | \

3 S

3
4

K (. LY
2
Answers !
< o<1
< :
N3 l
v — " |
': T /
B. u< : /

15 \ . -

81. A marble is selected at random from a jar containir;g,?.\mﬂmarblﬁﬂ%llow marbles, and 4 green marbles.

What is the probability that the marble is red?

The probability that the marble is red is F ' . (Type an integer or a simplified fraction-)-

s

Answer: 2
9

o™

VA Ytllow —+ 9 reen T e
2
43 Y

— g

—
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0= 2LA+AW
P20+ (%)

/Paralle[ogram 22cmW /;: G L/ ,71_. Q/Y
swen fS F= /07

Perimeter=l L

(1) O cm
} sg.cm

82, Find the perimeter of the following figure.

Answers 108

{(1)em

_-_-_-_-_-_'_'_‘—‘—\—._
83. Find the perimeter of t@n shown to the right. CA_) 2 cj é)
9m
F: AA4C P

Perimeter = '(1)— B 2 2 - 7 j- l/‘

— A 15425 ©)
(1O m e :

S P s

Answers 87

(Hm

84. A compuler has shape of a rectangular solid. Find the volume of the computer, with dimensions of 4 inches by 4 inches by

41 inches.
/= lw i L
The volume of the computer is l () — / (,
f

(Simplify your answer. Type an integer or a decimal.) VC ((f )( ‘7‘ ) ( Q/t / ) 7L L—f-
cuin, /
" e e /e ) [

O in ( ‘.(,, ;
$
Answers 65.6 6 -
{Ncuin. y
——— - — -_'_F-f’r.
w _‘-#_#______.._.-—n—*—"-"__*—_ T ———
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2

1

i

85. Find the area of the shaded region, Use the approximation 3.14 for «. V= 32) % \_
@ 32in 3z
N/
The area of the shaded region is approximately () / (} Z,(./ /'1 Ve _f Q“""f
(S:mp(l:l)fv ?rour answen/;l)'):ﬁi e: argegsL or:/dec;laf.f)‘{ﬁ (‘,q L( — S0 5. ¥4 Brea Cir 6
()O::in A=l A=t

@) sqin: /-" (3 C)(Sl) A 3, /v//a}L
A= 101 | =31 (1)

Answers 220.16 A L /‘-{[Z 5’(:}

S men b= 703.8y

86. Insert <, >, or = in the space between the paired numbers to make the statement true.

7.2777.27 ”“’70 20 =7, 27
7270 ra2v < J

Answer; =

.. R . . . . " . _\_‘_‘_'_'_‘— ——
87. Use the commutative and associative properties to simplify the expression. / / Z - q / _f, 7? —
(12+ay+12

(17 &-Fl L =
Qt/1—¢/1 = Vitu-/,

(12+a)+12=|

Answer: a+24

' of 47 4/8:2019, 8:28 AM
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88. Solve the inequality. Graph the solution set and write it in interval notation.
3x-3<6x-4x

Choose the graph of the solution set.

O) A, ettt f——— ) B,

0B 6 4 2 0 2 4 86 8 10 -10-8 6 4 -2 0 2 4 6 8 10

QOec, WOD

it -8 6 4 -2 0 2 4 6 8 -t0 8 6 4 .2 0 2 4 6 8 10
) E. St {—————t-i—i———+——+> O F.
A0 8 6 4 2 0 2 4 6 8 10 10 8 6 4 2 0 2 4 6 8 10

The solution to the inequality 3x - 3 $6x - 4x is 5X~3 € CA~ X
(Type your answer in interval notatlon) 3x - ~-% < < Z,,(
I-y 43 LA 3 =
“-%—H—H-I—H—b i
B, 108-64-20246 810 ﬁ/‘f X +735
(=00.3] 3)("‘2;( < L)(—-f}"“z’( i

(( 2 ETIQ

Answers

—— e — -
89. Solve the inequality. Graph the solution set and write it in interval notation.

5x< =30

Choose the correct graph below.

O A, et —tt—————t———> (O B.

87 654-32-10123456738 8765432101 2345678
O C. sty —————————+—+++> O D.
B8-76-5-4-3-2-1012345678 B-76-54-3-2-1012345678

O E. i ——p————_- F.
8-76-54-3-2-101 2345678 8-7-6-54-32-1012345678

The solution to the inequality 5x < =30 is : 5"')/ < -3
{Type your answer in interval notation.)

Answers
Cc. 8-76-54.3.21012345678

(-c0,-6)

22 0f47
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90. Solve the inequality. Graph the solution set and write it in interval notation.
-7x<28

Choose the correct graph below.

O A. —+———+————t+—+++> B,

B-76-54-3-2-101 2345678 B8-76-5-4-3-2-101 2345678
O €. <ttt riimiasiii———— (") D.

8765432101 2345678 84-76-5-4-3-2-101 2345678

() E. e imiiinajaiay- () F,

4-76-5-13-21012345678 8.7-6-5-4-3-2-1012345678 i
The solution to the inequality - 7xs28 is | l "—7 X é Z‘ZS \ L‘ \ﬂ 7\\
(Type your answer in interval notation.) N/ p ‘__LLH \
—~7X > 4 w~ 7 7 \
Answers - 7 ~ —7 A & St \
R wmm e < .
C. 8-76543-2-1012345678 e o;lhﬁ ,,.._/{ :

[-4.00)

23 0f47 4/812019, 8:28 AM
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91.
Graph the linear equation. Ay
10+

y=25x-1

Use the graphing tool to graph the equation. 6+

v

L}

Y
[
o
&
A

'

[y ]
o=
-
-
[a - P2
-
o

Answer;

24 of 47 4/8/2019, 8:28 AM



MATHSN3579THSANFIESTA150PMR-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v | /print/math

92.
Graph the linear equations y = 3x and y = 3x + 2 on the same Ay
set of axes. Discuss how the graphs are similar and how By
they are different. B—.
Use the graphing tool to graph the linear equations. 5’_
How are the graphs similar and how are they different? 4'_
2-
(O A. Both graphs have the same tilt, but they 1 X
cross the y-axis at different points. fo % 5 4 51 3 1 & & 1w
() B, Both graphs have different tilts, but they 2
cross the y-axis at the same point. 1
(O €. Both graphs have the same tilt, and they '4’
cross the y-axis at the same point. -
() D. Both graphs have different tilts, and they
cross the y-axis at different points. -8

Answers

7 { >/'
25 of 47 ~g_—_—,—=9f4 4873019 F28AM-
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Identify the intercepts. Identify all the x-intercepts.

(Type an ordered pair. Use a comma to separate answers
as needed.)

Identify all the y-intercepts.

B (Type an ordered pair. Use a comma to separate answers
as needed.)

Answers (- 2,0) /‘/’.-— /v A/QI// = —-Z _Q'f (._

0.2)

26 of 47 4/8/2019, 8:28 AM
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Graph using th@

y=2x+4

94.

Use the graphing tool to graph the linear equation. Use the
intercepts when drawing the line. If only one intercept exists,

use it and another point to draw the line.

Answer:

fiot Xemteeg?
Y = XY
0 = -ty
—y =1K
v X
“1=xy (=,

frof—YG =

https://xlitemprod.pearsoncmg.com/api/v 1 /print/math

124

.15

/wf T—m L7/ feF A =0
Y2 iX+y

Z(U)fry

0+

Y

—
"

—
-

7
7

—
A

270f47

_-_-_-_'_‘—'-—-—_
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95. Match the equation with its graph. 7 = ___)c_j

Q|

1)

y=2

Choose the correct grap

O C.
Ay
104
x
TR
AT 3. 10
103
e
Answer: 4
104
[
0§ 10
RTE S

96. Match the equation with its graph.
x=1
Choose the correct graph below.

O A. ) B.

=
=
4,
[l brithi

IR,

28 of 47 4/8/2019, 8:28 AM



MATHSN3579THSANFIESTA | 50PMR-Alfrede Alvarez https://xlitemprod.pearsoncmyg.com/api/v1/print/math

= (2=(6)

97. Find the slope of the line that goes through the gwen poi "f (_ P ) —( )
(-5.2)and (-3, 6) M = { — - 2= G -
X \ - ==
Selet;:f *hzaorrect r:lﬁo;gé‘below and, if necessary, fill in the answer box to complefg your choice, }“7 = —Z
() A. The slope is . (Type an integer or a simplified fraction.) @
() B. The slope is undefined.
Answer: A. The slope is 2 . (Type an integer or a simplified fraction.)
98. Solve the following equation for y. ‘j‘-—'? = ¢ ( X — »-1_, ))
= 7 = 6 X={=- 2 —
ey Y 1= =D (G617
y= (Simplify your answer.) 7 " 6 )(
. J7= ~+ (L
Answer; 6x + 19 7,._. '7__/ < 6xX—rF[1 -+ 7
———————— - .

99. Find an equation of the line described below. Wnt? the gLLuatlon in slope-intercept form (solved fory), ’v}rg}p%sm[e
Through (11,3)and 3,11) %)~ ] = X—-x () i R A N e )

Whatistheequatisnof{'l:elme? j ( ) Cj) (”)6( U) ‘7 —~3 = —{(X |
an =2 Y= (XAl €3
(Simpity youranswer) ] =3 = 3 ! = (1) T G e X s v
Answer. y= - x + 14 \j,_z _ ﬁ_()(r-ll) @ e _
- T-X /Y )
100. Find the slope-intercept form of the line whose slope i;'f’l and that passes through the point (- 6.8).

7
The equation of the line is Y TMm(y—x) — ZeF
{Type your answer in slope-intercept form., ) 7 ] ( 7 /‘?/ ({ Xt Co—t r

) = FK— )
Answer: y =4x+ 32 j b’ ¢ ()(—-1‘ 6 ) (@@‘

e w— T ¥XrZy

= ) & el . S

101. Solve the system ;f egUfions by .the substitution method._— /;7 2X- *S’/V/'_ /‘;__;/ Su 5 i
{V=2x+1 7 © (2 ) G =6 J=2(2)¢]

-

EX~+9¢—0X =07 ax _ -
4y -6x=10 Ix+Y o~ - = ’67: Yz 6 [

Select the correct choice helow and, if necessary, fill in the answer box to complete your choice.

O A. The solution is . (Simplify your answer. Type an ordered pair.) (A/ 7 /
(0 B. There are infinitely many solutions; {(xy)|ly=2x+1}or {(x.y)|4y - 6x=10}.

() €. There is no solution; {} or @.
(3,7) )

Answer: A. The solution is (3,7) . (Simplify your answer. Type an ordered pair. /

29 of 47 4/8/2019, 8:28 AM
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K= Sl Sy —y =/
—_— T/

o Ay
102. Solve the system of equations by the addition meth?( _ ,—-a ‘o — j =i
)’—4/._—7 /5 / 7 7/ Z.Jv-—y ~to 3D
(ST sl I =T
2x+y =13 g
7X+0v =7 - . -5
. . : T —f
Select the correct choice below and, if necessary, fill in the answer box to complete your choice. —f —
j 2: &
() A. The solution is . (Simplify your answer. Type an ordered pair.) ) ~— _
() B. There are infinitely many solutions; {(x,y)|5x -y = 15} or {(x.y)|2x +y = 13}. 6/ (/)) - ( 91— by ) %
(O €. There is no soiution; { or @. / /____j_..x
Answer: A. The solution is! (4,5) l (Simplify your answer. Type an ordered pair.)

103. Jen Butler has been pricing Speed-Pass train fares for a group trip to New York. Three adults and four children must pay
$128. Two adults and three children must pay $92. Find the price of the adult's ticket and the price of a child's ticket.

~AA+0= 79 2 3(15)+4C (T
—la=H / ST —+ & /L5

The price of a child's ticket is $ : ~4. 15 / % Ye —s7F=l2q9 =57
I ) Y$c=72

The price of an adult's ticket is §,

Answers 19

18

104, Kevin and Randy Muise have a jar containing 91 coi

coins in the jar is $12,95. How many of each type of coin do they have?

Answers 42 Rl -‘::_'__{_ Ll _ .
- ‘”%%_5’55—:“3- f $Lpn — 7= = T2
—'q_-_-______-_._.._.—._'_._-_ ™

105. Simplify the following expression by combining the like-terms. ) R L :
2 2_ .2 2 - L / | Ya é + 6 17
-6a” -5ab+2b" -3a"-%ab+4b -~

-6a’ - 5ab+2b” ~ 3a% - 9ab + 4b% = |

Answer: _ga2 - 14ab + 8b*

30 of 47 4/8/2019, 8:28 AM
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(&
106. Perform the indicated operation. PERCY € S —f TX —+ }' X7/ -
2
(-3x—5)+(8x° +3x+10) \
I +s =
(~3x-5)+ (8x% + 3x+10) = | (Simplify your answer)) e —

Answer: gy2 4 5

l// =2 -
107. Subtract, ) “+ Y L.(, 77 i 5’ —+ 5'*7 —6 =

(42 +8y-8) -(-5y+6)
(4y2 +8y- 8) -(=-5y+6)=  (Simplify your answer.) C/‘ 7 (= -t /Zj . / Y)

Answer: 442 4 13y~ 14

108. Multiply..c_,,_T,,ﬁ\I
:
ax{a?-3x+5) =

3x (4x2 -Ix+ 5) = } (Simplify your answer.)

Answer: 1253 _ gy? + 15¢

i S
109. Multiply. (5' X7 Z( 9—’)(_{.9)

—

(5x+2){dx+9) "~ ZU‘)( ‘—f' ‘r‘S")( __{_, f)('—(" /79____

(5x+2)(4x+9)= [ (Simplify your answer. 2 - _—————_._._______
Answer: 20,(2 +53x+18 Q / i

110 Multiply. ( @)( — (f(_gz) _

(x+6)(x3-4x+2)
DICEVERE) E —
—

Answer: 4 L a3 _4x? 99y 4 12 )( — 6 )< Qf)( ""'Z—L}( "7’: [ = H)
— — j'—""_i

x L “F)(L—-('éx T 6X —-zq,< _H?rﬂ_

il of 47 4/82019, 8:28 AM
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( 5‘4’1‘3)/2:@ ——-f‘f\ —r—’?) -

111, Find the following product.

6 o N (8 T
(4a+8){0a” ~5a+7) 3a’ — 2 & 1301 + 7 Za Foa + Sk =
(4a+8)(9a% -5a+7) = 26@3__(_ S‘Zﬁl H‘“‘%—?ﬁ
-

Answer. 3633 + 52a2 - 12a + 56 :
=

112, Multiply vertically. ({ _/-G‘(”— 7'-1—) (d)( +7'( G) o /
&
(Prox) o) O Tt TXTGR = (2 + YIx 36X
(x +6x~- 2) (Zx +7x- 6) . (Slmpllfyyouranswer) “-9‘/{”1:_/5/'(_:’::-( =

Answer: 2% 4 193 + 3242 - 50x + 12 2.)(Y ’T‘/? )( -—{— 3&)( Sb>< tf:/_:h:‘-‘
""**-....___,,___::__—____ : -

113, Multiply. /ﬁ —¢ )?\é'f.!' ) -
{a-5)}a+85) aL + /4.7/6’5‘ ._25- l

(a-5}a+5)= (Slmpllfy your answer,) _
C" =Y
Answer: 52 _ o5 e

114, Simplify. Use positive exponents for any variables. Assume that all bases are not equal to 0.

— =! ! {Use positive exponents only.)

Answer: 34

115. Factor a negative number or a GCF with a negative coefficient from the polynormial.

-3x-9 -,_"g /(""_ﬁ -
-3x-9= (Factor completely.) N T
(308 5
Answer: = 3{x +3)

“\H_'_“‘—-*-—-.-.____

320f47 4/8/2019, 8:28 AM
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rhss bl

18,
Complete the factoring. X% + 13x + 30 = (x + 3)( )
(X +3)x#/9<]
Answer: x+10 Gl
B | Pocsiby =
Complete the factoring. X2 = 11x + 30 = (x—6)( )
x% = 11x + 30 6( - f’)c 6) .-T‘_h\h-
Answer: x =5 k
118. Factor the trinomial completely. /’I VS S b'/é / 2 5‘ X L_f \’U /( ~ fa —

£

(& -

Select the correct choice betow and fill in any answer box 5,‘ 7 = S’— ()( ’—{' & )< s /6 ) ‘-‘
O A 524 50x+80= S’—@ + Z)G(+ % e

(Factor completely.)
) B. The polynomial is prime.

5x% + 50x + 80

Answer: A. 5x° + 50x +80 = _' S{x+2){x+8) (Factor completely.)
= e - N

119. Factor completely. /U ¢s, 44

5x% + 34x+ 24

four choice.
’L y, -
O A 5324 34x+24= (Factor completely.) ZA/ -f"j Y Xt < (( =

O B. The polynomial is prime. @ s ?) X G) :‘D

Answer: A, 5x2 +34x +24 =| (5x + 4){x + 6) | (Factor completely.)
— — — . — E__ S a————— S
120. Factor the following binomial completely. 7[‘:/ ””""'L‘ ﬁ "é — /&’f 47(2 ——5)

81x% - 196y°

Select the correct choice below and, if necessary, fill in the answer box to cdraplete

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

Jixt—/79% -
(9%) — (1e)" <
ﬁ”x—('/“/‘-;)/‘?:(-—/‘fj): :

O A 81x° - 196y2 = _ (Factor completely.)
(O B. The polynomial is prime.

Answer: A. 81 x° - 1 Qb‘y2 = [(Qx + 14y H9x ~ 14y)| (Factor completely

33 0f 47 482049, 828 AM
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(x-4%) (x¥r7)=0

121, Solve the equation. A/" 4 -0 Ord )(-—1" 7 =0

LR X—i€5=971 OR K17 =971
o — CHETD oA CLETT
(Simplify your answer. Type each solu nljr-u'n:‘"“Use a comma to separate a

Answer: 9, -7

122. Solve the equation.
8x(x-1)=0

Answer: 1,0

123. Solve the equation.

(2x + 5)(8x - 9) =0 ZXt5y= O oy FX—T = O
=[] ks T o= A o’)(-—i»%ﬁ”ﬂv‘f

{Simplify your answer. Type each solution only once. Use a comma to separate answers as neede

)(ﬂ"—-s

Answer: _;% —’S’- (_—_r\) 0/( %’

124, Solve the equation. /7 ()("" f% """7) -/0

o o =7 &o
.--57’.-/—}/:': ¢t Ol X— /7—-:‘ yL/Q'fj

x=

(Simplify your answer. Type each solution only once. Use a comma to ns;gegas needed.)

N A=s> 98K =7)

A — Gy M PSR

I3/ N
7 :

loSsih

x° = 12x+35=0

125. Solve. /'? Q( — 3) é(qf—w «-—af»’

: }/4/ o3 G x—f/—;/ 0—¢

(Simplify your answer. Type each solutlon only once. Use a comma to separate answers as needed.)

Answer. -6,3 C/{:’:/ on @

\\
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L xSy 6o
126. Solve the equation, ?(3)( L’f/()(""f’) R

2eatts L (3~ 1 )HAD O
x= Sek ¥20 o X—~(TO g XFYEe

(Simplify your answer. Type.€ach solution only once. Use a comma to separate answers as needed.)

3>(——£ /'v+/ o )('f-ﬁw?’“r/—s/
X =

Answer: l /‘/,—-.._({/,
~4
3 et \
L. - i e —

127. Find the dimensions of a rectangle whose width is 5 miles less than its Iength and whose area is 66 square miles.
The length of th t I'| I il L(L 3—)2 ce ://
e length of the rectangle is miles. —
e 5—4 ¢C Z’}/:/”-S-:@

The width of the rectangle is miles. L —_ L . g £z o 4 /’
- v ekl =
Answers 11 I 1!L"5‘ (L~ 5)(4- /p ,-?/—- Y]

ad =
bri =2 o e oty (1= 6
o

6 L. /
76 —-,(L,;ij
-—|—-4—'_'_'_r-_-‘_‘_‘—\—._‘_-_‘_ aK & L = —— e
128. Find the quotient and simplify theW 3 .

o’ 2y . 7 “9—'2_._ Z)((j

y? B B ?‘ 37)(7
16 2 2 >< Y T
y2
Answer: 24
v -

Through {4, - 1); perpendicular to 3y=x-6 ‘j — ("‘I) = _.g ( )( —'((())
The equation of the line is f(x)=| . ’) 7 ,f‘ *3( X - Cf)
- )

Answer. - 3x+ 11

39 -z |IX— 6
39 . IX - 6
! 3 3

I Iﬂt//?(ad( s :@ .
e i ST 4/8/2019. 8:28 AM
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130. Graph the function.
fix)=2x+3

O A.

A= 7

Answer:

131. Graph NS Torction. X 74
X‘.
f(x)= 4/x+86 ar o—’
Choose the correct graph below. :_;:__ (
Ly
313
e f————

- Ume | As)- L/sTe
/[(~6) ~(/~6ec /[(——5 -/
fo= 1o /(f/f /

f(’b): a
H3)=3

—

o _-_-_'_‘—‘——_
4/8/2019. 8:28 AM
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A= X’
V(1) -
Vi) = /6 /6 /C
Vi) = 256 /4
V(/6)= F05¢

The volume is cubic centimeters. (Type an iRteger or a decimal.)

132, The function V(x)= X may be
used to find the volume of a
cube with side length x. Find
the volume of a cube whose
side is 16 centimeters.

Answer: 4096

— i : -. — —

133. Ify varies directly as x, find the constant of variation k and the direct variation equation for the situation.

=<
y=7 when x=14 \9_’ °< | jk J
Find the constant of variation k.
7*/rk /
k= f ](Type an integer or a fr#ctlon Simplify your an wer) \9 - ’_,_ )(

Complete the direct variation equation giveh y =7 when x = 14,

y= (Use integers or fractigns for any numbers iﬁ the expreas

pati
Answers 1 f
! Y Y
1 Kk |
7X /Y ]
(1) - k

e (-2“} e ——

e

134. The amount P of pollution varies directly with the population N of people. City A has a population of 416,000 and
produces 260,000 tons of pollutants. Find how many tons of pollution we should expect City B to produce, if we know that

its population is 350,000. -7 : ( \j - 6 7 T)(

e mf
City B produces tons of pallution. 260 oo = k( 9‘/60 ‘ -, G Z < (3 sO OUJ)
(Do not round until the final answer. Then round to the nearest ton as needed.)

2 GO 0uvs < (ﬂcawk . !9 2[775-0 )
Answer: 218,750 S
\ 9./6 ou) coo
e S ggzaf’jgs_ I—

135, Solve the absolute value equation. o ZX ;— 4 sz ZX"'Y / /
|2x-5|=11 X5 <~y 0/ 2}(_’;{[

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
X =—6 d/L X =
© A. The solution setis { i ZX - =6 % = /G,

(Type an integer or a simplified fraction. Use’zomma to sZparate answers as negded.)

) B. Th luti tis @.
e solution set is X:_;-}“‘\; O/L
_‘_,_,«/

Answer: A, The solution set is . —_—

(Type an integer or a simplified fraction. Use a comma to separate answers as needed.)

370f47 4/82019, 8:28 AM
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136. Solve the inequality. Then graph the solution set. "'/3 C /r —5 < f

x-5|<8 s —~F Tt <X—x -+ < Frs
Select the correct choice below and, if necessary, fill in the answer box within yo&,-;.ﬂ,.:g—/—//(_/lf3 w\\
O A. The solution is one or more intervals. The solution is . il
(Simplify your answer. Type your answer in interval notation. Use integers or fractipnsfor T
any numbers in the expression.) ii :l
O B. There are only one or two solutions. The solution set is { }
{Type an integer or a fraction. Use a comma to separate answers as needed.) = 5 '
(O €. There is no solution.

Choose the correct graph below,

) A. ) B,

20 0 20 B
()€ oD
<— M ez <— H—!—)
20 1 20 20 v} 20
OE. B
M—|—H <t } >
20 0 20 -2 L 20

Answers A. The solution is one or more intervals. The solution is (=3,13) f

(Simplify your answer. Type your answer in interval notation. Use integers or fractions for any numbers in the
expression.)

137. Determine which ordered pairs given are solutions of the linear inequality in two va?bles ) ] "3/
Z,"L ,
x-y>4; (2,-2),(9,3) - \ A '
1=1 29 X a7Hy> ¢

Is the ordered pair (2, - 2) a solution to the inequality?
— .—.z) > (W3 -
(2 )~ [5 )— ( 3 ) 2 Y

h(
R, 2421 >y
l | AR -3 >y
s the ordered pair (9,3) a solution to the inequality? ({ >___
O No 6> Y
) Yes
YEs .
Answers No d____,.a—f""#
Yes
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138.
Graph the following inequality. A

2x+y > =2

Use the graphing toc! to graph the inequality.

;/%T-/{x?'?"z‘ A

P SR A 2]
j>’_2)<'—'7-/ do & & 4 2 1 2 § & & 10

2

A

“

o]

Answer;

39 of 47 4/8/2019, 3:28 AM



MATH3N3579THSANFIESTA 1 50PMR-Alfredo Alvarez https://xlitemprod.pearsoncmg.com/api/v | /print/math

138. Use radical notaticn to write the expressmn Simplify if possnble Assume tﬁ(all variables represent nonnegatwe

quantities. ( 3 )(.‘) L ’“l_ 'L 5 3 )( Y

o 7 2xY

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.

1

= 2
) A (gxﬂ) =

(Simplify your answer, Type an exact answer, using radicals as needed.)
() B. The answer is not a real number.

1

2
Answer: A, (Sxe) = ax? (Simplify your answer. Type an exact answer, using radicals as needed.)
140. , W/l‘m—-f 6/ Z r/ 7
Simplify by factoring. l / Z { [ J50 = _ ’ J -
w/_- Z f‘ {Type an exact answer, using radicals as needed. SU
< ﬁ‘_ > s0- 5 1 e
Answer: 5,/2 €L~ ls L e

— -

R ——————— e — e _f_

R ——

—\¢
141. Solve. CV)’(:}) =)L
x-8=4 X—{ = ({

Select the correct choice below and, if necessary, fill in the answer box to complete your choice.
) A. The solution(s) is(are) x= . e e
(Use a comma to separate answers as needed.) X - m
- o

() B, The solution set is @.

Answer: A. The solution(s) is(are) x = . (Use a comma to separate answers as needed.)

e e e e

142. Use the square root property to solve the equation. The equation has real number solutions.

kraree Vet = 2

o — YA3 <= Ey

—

(Simplify your answer. Type an exact answer, using radicals as needed. Use a comma to separate answers as needed.)

X+3 =~y O A€3 =
Xoep3=3 < =% —7 0~ X—+3 —> ": \(—-g

Answer: 1,-7

_-_-_-_-_-_-_-_H_'_‘—h-—-.
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143
Sketch the graph of the quadratic function and the axis of

symmetry. State the vertex, and give the equation for the
axis of symmetry.

f(x)= - 3(x+2)2 +4

Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

The vertex is l l

(Type an ordered pair.)

The axis of symmetry is _' i
(Type an equation.)

K —--3(%—,‘1) Z—r‘(,/ X
Answers Y /[6'3) ~ —3(-—}%2);7‘% 51 7

16 ’[(,3) ':"J(-{) Yy Zi
¥ ﬁ/ﬁ) =3~ Y =L
&0 1 A-De 30 Y

24

Gy

-0 16 12 B

4

f(-3)~ 5T

(-24)
=2 . f)=3(DE Y
)/( =) }:_.._E_F._Pf_z,}___"f_"{—ﬁ,_,”__’i:j _(_\ J(E.) Ty
Len) = B30+ ) <My
(eq ) = IOy __-./.-(-"..‘) < Ty

/C"Z/) — "f(o/’Fy
/(,,1) - O+ ¥
)=y
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144,
Sketch the graph of the guadratic function and the axis of

symmetry. State the vertex, and give the equation for the
axis of symmetry.

1
)= 5 x -6)%-5

Use the graphing tool to graph the function as a solid curve
and the axis of symmetry as a dashed line.

What is the vertex of the graph?
The vertex is I
(Type an ordered pair.)

What is the equation of the axis of symmetry?

{Type an equation.}

Ha) = 5(5~c) =

i Ak ,,
#FZ)ﬁf/ oy 20%
4

(6.-9)

x=6

145. Find the vertex of the graph of the following qtadratic function.?

Ge~t) b= ¢ = =9

=) =
f(x)= -x° - 10x-9

The vertex is : (Type an ordered pair.)
V(/L(( :.{—?%/ /(’71‘2’_))
C ftn)

2N,
. {
Vecloy =( 42,

Bl 1ol —2

Answer: (- 5,16)
Ve

42 of 47
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v

- (79)y

o

2061)
)@f/) Tome . Wl ved norh..

."12.. .1.6. T .20

—
o
-
[ 4% ]

4
e
8N
3
£o-]

12

16

at
)= El-e)—s
fro)=bfe-e)t-1
ﬁG}‘:— -{—{/O)Z’r

ft6) = %) o)

o)~ 40"
Fel=0~<

x

v‘::rlz,( :(—-5} ~(-sP50L5)~)

s ~Chol-51~2)
Vils (-5 =251 50— 49)
=(5,/6) 1

~
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148,
Find the vertex of the graph of the quadratic function.

Determine whether the graph opens upward or downward,
find any intercepts, and sketch the graph.

fx) = x° - 1

The vertex of the quadratic function is the
point .
{Type your answer as an ordered pair.)

Does the graph open upward or downward?
() A. The parabola opens downward.

() B. The parabola opens upward.

Find any x-intercepts of the graph.

Select the correct choice below and, if necessary, fill in the
answer box to complete your choice,

) A, The x-intercept(s) is(are)

(Simplify your answer. Type an ordered %( —~ ]

pair. Use a comma to separate answers '
as needed.) / ('/( )

() B. There is no x-intercept.

Find any y-intercepts of the graph.

Select the correct choice below and, if necessary, {ill in th?_,/f(’"”/—' S

answer box to complete your chaice.

() A. The y-intercept(s) is(are) /4 0/ (O) / /
(Simplify you} ar;swer. Type an ordered ( () /g/d ) /

pair. Use a comma to separate answers (
as needed.) /(0) —

() B. There is no y-intercept,

Use the graphing tool on the right to graph the pa@/
Fin= 0
/(‘) —-:_[U(()//
/[(n ':/"/
/( 0= O\
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Answers (0,- 1)

B. The parabola opens upward,

A, The x-intercepl(s) is(are)! {-1,0),(1,0} !

(Simplify your answer. Type an ordered pair. Use a comma to separale answers as needed.)

A. The y-intercepi{(s) is(are)‘ (0,=-1) [

(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)
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147,
Find the vertex of the graph of the quadratic function,

Determine whether the graph opens upward or downward,
find any intercepts, and sketch the graph.

f(x) = = 10x% + 20x

The vertex is .

(Simplify your answer. Type an ordered pair.)

'
Dees the graph open upward or downward? i ! 8 12 156 20

) A. The parabola opens downward.
() B. The parabola opens upward.

-12
Find any x-intercepts of the graph.
-1
Select the correct choice below and, if necessary, fill in the
answer box to complete your choice. -2
A. The x-intercept(s) is(are L e
O S e G ~OY Lo T &
(Simplify your answer. Type an ordered
pair. Use a comma to separate answers ,_-/())( ( )( 2:)
as needed.) )( 2 )
() B. There is no x-intercept. —_ /Q)( R, e, /(

Find any y-intercepts of the graph. — / u7g, o 0 A )( ~1 -t 7 —UH7 T
‘7 E

Select the correct choice below and, if necessary, fill in tltn’e
answer box to complete your choice.

) A. The y-intercept(s) is(are)

{Simplify your answer, Type an ordered

pair. Use a comma fo separate answers K(\L 5
as needed.) Bt -
. . _'_.—\_‘_‘_‘_‘_-_-_-_‘_‘—'—-_._,_ — ~ > -
() B. There is no y-intercept. ( {
— (5
) 0T —2o1)
Use the graphlng tool to graph the equation.

Hje ~fot “Faox / (1, () t2an)
Goay o220, S () ) T200)

Vily - /,5— /(——,A)) f’ ( —/0 “F29)

=(~(z2 %(i":ﬂ IZR e
=( Z_(.W) / (‘.,Z%S:) ( Vet

/ B /(())

3 —— e e
45 0f47 T 4/8/2079, 8:28-AM
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Answers (1,10)
A. The parabola opens downward.

A, The x-intercept(s} is{are} ' (0,0),{2,0) .
(Simplify your answer. Type an ordered pair. Use a comma to separate answers as needed.)

A. The y-intercept(s) is(are) (0,0) l

(Simplify your answer, Type an ordered pair. Use a comma to separate answers as needed.)
14
20 \/ e/ ﬂ. T
16
W
12 ]
8

o)) o) (21 o)

20 .16 12 | '8 4 48 12 16 2

L Na

e

148.
Graph the equation on paper, and then choose the correct O A.
graph.

y=2" _)__(.J )

Choose the norrect graph on the right. ) _'

'
in
o

i 3

('I

(\S\S\s
(\
N\(\‘

Answer:

in

e
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149. Cheese praduction in a country is currently growing at a rate of 2% per year. The equation y = 8.4(1.02)* models the
cheese production in the country from 2003 to 2009. In this equation, y is the amount of cheese produced, in billions of
pounds, and x represents the number of years after 2003. a OC)? 2005

. , : J 5. —J2Y —
a. Estimate the total cheese production in the country in 2008. ‘;% (' 'L;j
b. Assuming this equation continues to be valid in the future, use the equation to prédict the total amount of chees J
produced in the country in 2015,

a. The total cheese production in the country in 2009 was abaout billions of pounds.
(Round to the nearest tenth as needed.)

b. The total cheese production in the country in 2015 will be about billions of pounds.
(Round to the nearest tenth as needed.)

Answers 9.5 (ﬂ - 5 Y(/ 02’)
' “? 7. (.02) "

10.7 i
AT T SRR B

150. Write the first five terms of each sequence whase general term is given, — =

a,=3n+5 QVI - 3 /ﬂ’f /('____.,. \

= |—| (Simplify your answer.Type an integer or fraction.) e ——
a, =‘: (Simplify your answer. Type an integer or fraction.)

=r——‘l (Simplify your answer. Type an integer or fraction.)
a, =|—] (Simplify your answer. Type an integer or fraction.)

ag = (Simplify your answer.Type an integer or fraction,)

— 5
Answers 8 a/ - 2( [)ﬂ“) — 3 J

G- Htr < 6TS
Gz = 308 5 < 9Dts5
6?/: 2(¢) s < (L5 _
-
65, . 3(5’)/{‘5""1 /S5 = 20 )
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